Source feed horns   REH comments / questions in italics
They are all pyramidal (Aperture A*B with apex to aperture length L)
Band 3

A= 23.0 mm    
B= 18.0 mm    
L= 44.0 mm

These sound like the dimensions of a “standard gain horn”.  Is that right?  
I calculate at 94 GHz  How did you calculate the beam patterns?  Are you using a simulation package or just getting numbers out of a book.  Please send plots or spread-sheet if you have them.
Elevation n =154

Azimuth n = 93

I am a little surprised that these numbers are so different.  Normally the dimensions A and B are chosen such that the beamwidths are nearly the same.  What values did you actually have for the Az and El angles at -10 dB? 
These are a fit to the calculated power patterns (ignoring sidelobe in elevation)

I believe that NSI program wants power pattern n’s.

Their equation is CosN(az) = -0.5/{Log10[Cos(Az angle-10)]} 

Which I believe is CosN(az) = -10 dB/ (20*log10[Cos(Az angle at -10dB)]}
It seems to me that the fact that it is 20*log10 means that we are talking about the voltage pattern not the power.  i.e.
E_field = [cos(az)]^n_az * [cos(el)]^n_el 
